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Note: First 15 minutes are allotted for the candidates to read the question paper.
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Instruction :

i) All questions are compulsory. Marks allotted to each question are given in

the margin.
i) In numerical questions, give all the steps of calculation.

iijj Give relevant answers to the queﬂtions.

iv) Give chemical equations, wherever necessary.
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Four alternatives are given in each p

2
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alternative and write it in your answer- book

a)

b)

d)
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)

)

The amount of Na, CO to prepai’rt\:JJSOO ml 0-2 M solution is
iy 153¢g i) 3:06g %m] 106 g iv) 53g
Colourless ion in the following is N)
m .
) Ni%t iy Fed* i) cu? iv) Cu*!

The value of x in the complex ion [ N{CN), |* is

qj) 0 i +2 i) -2 iv) 4
! Pd-BaSO, '
In the reaction CH, COCl+ H, d-Ba50s PTRT
product is — |
i) Ketone i) Ald‘chyde iii) Acid iv) Alcohol
(CH,);N is a
i)  Primary amine i) Secondary amine
iii) Tertiary amine N) iv) None of these
Ascorbic acid is Y,
i}  Vitamin i o .
. i) Enzyme © iiij Protein iv) Hormone

mﬁmﬁﬁéﬂ%ﬁmﬁymﬁwm%?
e 3wt et F Ko, 1 geaieh T P e 21 2
NH 4 OH TRew 1 Cu(OH) , e, s NaOH freram 1 71 i1 2
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What 1s the relation between d;grcssmn in freezing point and molar mass of
the solute ? Q0 2

CH,CHBrCH

Equivalent mass of Kl\z‘[n()4 is different in acidic and alkaline media, Why ?

1+1
Cu(OH), is soluble in N4 4 OH solution but not in NaOH solution. Why ? 2

Complete thc following chemical equation :

CH,CHBrCH. %[A}_l%%%’(m ,
TRt e 3 e oo g 54% W 21 g6 o § oo e @
S 1A W §d i f 2
ﬁﬁ%ﬁaﬁaﬁ%mﬁ%m;ﬁww%ﬁq; 1+1

) 3 HNO, ﬁcﬁmaﬁarﬁrfﬁ‘m

ii) %ﬁamwaonﬁzﬁﬁﬁﬁﬁm%wm

Frafafaa dfiet % 3T|'§3L‘ﬁ.ﬁ.¥ﬁ. T ffly . 1+1
i) CH,CO(CH,),CH,

ii) CH, CH,CHBrCH, CH(CH, )CHO
mﬁﬁwm%ﬂmmﬂi%?m%%m%ﬁﬂmﬁaﬁqw

am fofa) 1+1
| 54% (w/w) water is present in thc‘mixture of ethyl alcohol and water.
Calculate the mole fraction of cthyl alcohol and water in the mlxture 2
Write the chemical equatmns ofte following reactions : 1+1

i) Reaction of dilute HNO 5 with phenol

i)  Reaction of phenol with c@oform in the presence of NaOH (aq.)
Write IUPAC names of the following compounds : 1+1
i) CH,CO(CH,),CH,

ii) CH,CH,CHBrCH,CH(CH e];cno
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d) How are vitamins classified ? E_‘}Imc the vitamin responsible for coagulatj,
of blood. N 14
h%ﬁww 1
s W) nﬁmﬁqﬂwﬂﬁmmom% ﬁﬁﬁﬂﬁﬁﬁﬂwalﬁmﬁs
Ao g A c’\g 14
@) iU w0 2 e g i fft 149
T YW R 6 il ¥ o an Rpiw 60 dwve! 21 abEE B R
Fﬁmﬂ%ﬂmwaﬁﬁﬁmm-maﬁm? . 3

9)  S® Mn F T YT U F & (A) HCL 30 ¥ e wwa & @ M (B) ww o}
it & 78 @ NH R AR w5 @ Rewres wmw () T A (A), (B) 3

[C)ﬁwﬁqwéﬁmmﬁ&gaﬁ%muﬁmm| 3
4 a) = Write the definition of mclality&% mole of a solute is dissolved in 100 £
solvent. Calculate the molalifyfb@the solution. . 1+2 6.
b)  What is Kohlrausch law ? Writtqts two applications. 1+2
¢}  The rate constant for a first order reaction is 60 sec™!, How much time will
it take to reduce the initial concentration of the reactant to 1_16 t_h ? 3
d  When a brown coloured salt (A) of Mn reacts with HCI acid, gas (B) is
obtained. This gas in excess reacts with NH ; to form an explosive salt (C).
Identify (a), (B) and (C) and wrffEE the chemical equations involved. 3
5. %) ﬁz@ww%?msﬁa@gﬁmwzﬁa@aﬁwﬂmmt 2+2
"5': %ﬁmﬁmﬁqlmﬁmﬁ@ﬁﬁmmmﬁm 2+2
! %aﬂﬁ.mtﬁ.mﬁ.zrmi%]—f@q: 1+141+1
1) K, Hel, | r\:j)' .
g, &
B Ka[M{C204 3] Elg
iv) [C"(CO}G]
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What is Nernst equation ? Writ%}hc relation between standard electrode

potential and electrode potential. (O 24+ 2

Explain the rate of reaction, Desc@c the order of reaction with example.

| 2+ 2

Write IUPAC names of the following : 1+41+1+1

i)  K,[Hgl,)

i) [Cu(NH,), ]SO, —

i) Ky[Al(C,0, )]

iv) [Cr(CO),]

What is Tollen's reagent ? Write the chemical equation for the reactions of

this reagent with glucose and fru?l}s?sc. 1+1% + 1%

1 B & T — ( Faw wlftww faf@ )

i) $E Br, 9@ A Al mng?

ii) AT 1 Tl R € soffa d B g 2

iii) Bratet 1 mlsﬁmﬁnﬁmﬁé?

iv) $FTS NaOH & Jifirfea wtn & » |

v) HFE 3 Ae e S fm foae aw it (tho,) w v
Lk 5 - | 1+1+1+1+1

frefefga adfte =t gof Hife

) CH,CH,CH,OH +SOCl,——
i) CH,CH,CH=CH,+HBr -—--IM

fii) (CHg),CBr+KOH —— 1>
i) CH,CH,Br+KCN ieim(Q

Qo |

e
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What happens when —

gt ? -
@amﬁﬁmm;@z? '1+1+]_+1+1
Q&‘HW@E&H i 2+2+1

(write chemical equation only)

Phenol reacts with Br, WRIST ?

o
Acetylation of phenol hap%is in the presence of pyridine :
Phenol is heated with PCI%?

Phenol reacts with NaOH 20

Vapour of the mixture of phenol and mcthyl alcotrol is passed through

. + 1
hot thoria (ThO,) ? https://www.upboardonline.com 17 1+1+1

Complete the following equations :

i)

CH,CH,CH,0H +S0CL, —»

i) CHyCH,CH=CH, + HBr —mef

i) (CHy);CBr+KOH —,

iv) CHyCH,Br+KCN — Ethanol(ag)
v) CH3CHQBr+AgN02(a1C_]§__> 1+1+1+1+1

i)
i)
i)
iv)
v)

N o

How will you obtajp, (Write %-mical equation only)

Ethyl aleoho] from Grig
Terti

Cruary alcohol ¢ fom Grignard's reagent ?
Ethyl alcoho] from Methyl aleohol ?

Diethyl ether from Ethv@lcohol ?
Ethyl acetate from Ethy] alcohol ?

Iﬁd's rcagent ?

1+1+1+1+1
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Write short notes on the followiqg .
i Hunsdicker reaction IN)

' 4 M
ij) ~ Frankland's reaction Qo
iii) Dehydrohalogenation (I‘S
frefeRea w firg fogof forfan 00
i) R it
i) FRE il
iil) ¥ I =

. \ﬁji%ﬁ’ga wHiHT B qof ity
) CgHgNH, +CHC, + KOH(ale |——»

ii) céﬁsﬁmz +Br2(GQl_E

iii)  CgHgNH, +(CH,CO ’2ozL’
iv)  CgHgNH, +H,S0, (Wg—l'
V) CgHgNH,+CH,COCI 8%

HYQr

 Frerfiran sl 9 g B

a5 H,S0
i] CHECOCHB p— 2 ;.{A']

i) CHECOCHa%@—* A

iii) CH,cHO ZNaOH (¢, nifw ]
iv) HCHO % (E) ' ﬁ
Preifirfes w wifim fooqoht firflag 0O

(@]
i) il ol s Bg
i)  ETEAT-Fge A
i) STETAHw
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2+24+1

1+1+1+1+1

1+1+1+1+1

2+2+1
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b)

b)

8

Write short notes on the following :
i) Tischenko reaction {\)
. ‘ 4
ii) Cannizzaro's reaction &)

iii) Clemmensen reduction (O
Complete the following cquatiorg%

i) CgHgNH, + CHCl, + KOH(ale)—
i)  CgHgNH, +Brylag)—

]

iii)  CgHgNH,+(CH4CO)0—

base
v) CﬁHSNHQ + CHSCDCI————*

NJOR
: \J)
Complete the following equatin!}g}: g
. conc. H,50, {0
) CHCOCH,—mmen &é};
I, + NaOH
iij CH,COCH, — (B)

iii) CH,CHO _dil. NaOH, ~ _Heat ()

i) HcHo S2OHL ()

Write short notes on the following :

i) Carbylamine reaction

i)  Hofmann-bromamide rc;éion

iiij  Diazotisation

8CB8CCL

534

2+24+

1+1+1+1+)

1+1+1+1+1

2+2+1
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